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KVS DIRECT RECRUITMENT EXAMINATIONS

(Candidate Response Sheet)

Roll Number

Name of the Candidate

Examination Name

KVS Junior Secratariat Assistant 05 MAR SH1

Exam Date & Time

l05-03-2023 10:00:00
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(
(2
(
(4

Options:-

=1, Option ID :- 1,
« 2, Option ID :- 2,
=« 3, Option ID :- 3,

= 4, Option ID :- 4,
Answer Given:- 4, Option ID : -4

Question ID:- 1

‘took a fancy” means :
1) astrong disliking
) a boring gesture
) an instant liking
)

Subject : GE_Q01-Q20_JAO5MARSH1

Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Today morning I woke up when I heard a yelping sound outside the door of my house.
I opened the door and I saw a beautiful white puppy. How did it come there, I don’t know.
But I took a fancy for this sweet looking creature. I know my parents would never like to
keep a dog in the house, especially my mother who hated the very sight of an animal running
about the house. She felt that feeding a dog properly was also not easy. There was always
a fear that it might bite somebody and cause much trouble.

2. I am glad that I was able to persuade her to accept my point of view. I told her that feeding
the dog would be my responsibility. As far as its biting goes, I told them that a dog never
bites a person unless provoked. Moreover, I assured them that I would undertake the
responsibility for its regular medical checkup too. Seeing that I wanted a dog so much, my
parents agreed. Although I dare say that they did so only unwillingly. Ican’t tell you how
happy I feel today. I have named the puppy as Jacky. Isn't Jacky a nice name for a cute
white puppy who has taken a liking for me ?

a courageous step

Question ID:- 2

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042000... 1/61
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Today morning I woke up when I heard a yelping sound outside the door of my house.
I opened the door and I saw a beautiful white puppy. How did it come there, I don’t know.
But I took a fancy for this sweet looking creature. I know my parents would never like to
keep a dog in the house, especially my mother who hated the very sight of an animal running
about the house. She felt that feeding a dog properly was also not easy. There was always
a fear that it might bite somebody and cause much trouble.

2. I am glad that I was able to persuade her to accept my point of view. I told her that feeding
the dog would be my responsibility. As far as its biting goes, I told them that a dog never
bites a person unless provoked. Moreover, | assured them that I would undertake the
responsibility for its regular medical checkup too. Seeing that I wanted a dog so much, my
parents agreed. Although I dare say that they did so only unwillingly. Ican’t tell you how
happy I feel today. T have named the puppy as Jacky. Isn’t Jacky a nice name for a cute
white puppy who has taken a liking for me ?

Read the following statements.

(A) A dog never bites if not provoked.
(B) : Dogs bite people all the time.
(1) Both (A) and (B) are correct.

)

) Both (A) and (B) are incorrect.

) (B) is correct, but (A) is incorrect.
)

(A) is correct, but (B) is incorrect.

[FER o5

(
(
(4
Options:-

«1, Option ID :- 5,
= 2, Option ID :- 6,
= 3, Option ID :- 7,

= 4, Option ID :- 8,
Answer Given:- 4, Option ID : -8

Question ID:- 3
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(1) reluctantly

(2) negatively
(3) willingly
(4) happily
Options:-

«1, Option ID :- 9,
=« 2, Option ID :- 10,
« 3, Option ID :- 11,

=« 4, Option ID :- 12,
Answer Given:- 1, Option ID :

Response Sheet

Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Today morning I woke up when I heard a yelping sound outside the door of my house.
I opened the door and I saw a beautiful white puppy. How did it come there, I don’t know.
But I took a fancy for this sweet looking creature. I know my parents would never like to
keep a dog in the house, especially my mother who hated the very sight of an animal running
about the house. She felt that feeding a dog properly was also not easy. There was always
a fear that it might bite somebody and cause much trouble.

2. I am glad that I was able to persuade her to accept my point of view. I told her that feeding
the dog would be my responsibility. As far as its biting goes, I told them that a dog never
bites a person unless provoked. Moreover, | assured them that I would undertake the
responsibility for its regular medical checkup too. Seeing that I wanted a dog so much, my
parents agreed. Although I dare say that they did so only unwillingly. Ican’t tell you how
happy I feel today. T have named the puppy as Jacky. Isn’t Jacky a nice name for a cute
white puppy who has taken a liking for me ?

The parents were agreeable to having a dog in the house. But they did so

Question ID:- 4
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Today morning I woke up when I heard a yelping sound outside the door of my house.
I opened the door and I saw a beautiful white puppy. How did it come there, I don’t know.
But I took a fancy for this sweet looking creature. I know my parents would never like to
keep a dog in the house, especially my mother who hated the very sight of an animal running
about the house. She felt that feeding a dog properly was also not easy. There was always
a fear that it might bite somebody and cause much trouble.

2. I am glad that I was able to persuade her to accept my point of view. I told her that feeding
the dog would be my responsibility. As far as its biting goes, I told them that a dog never
bites a person unless provoked. Moreover, | assured them that I would undertake the
responsibility for its regular medical checkup too. Seeing that I wanted a dog so much, my
parents agreed. Although I dare say that they did so only unwillingly. Ican’t tell you how
happy I feel today. T have named the puppy as Jacky. Isn’t Jacky a nice name for a cute
white puppy who has taken a liking for me ?

According to the passage, feeding the dog would be the responsibility of the :
(1)
(2) writer
(3)
(4)

mother

both writer and mother
the whole family

4

Options:-

«1, Option ID :- 13,
= 2, Option ID :- 14,
« 3, Option ID :- 15,

= 4, Option ID :- 16,
Answer Given:- 2, Option ID : -14

Question ID:- 5
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Read the passage given below and choose the most appropriate option to answer the question
that follow :

1. Today morning I woke up when I heard a yelping sound outside the door of my house.
I opened the door and I saw a beautiful white puppy. How did it come there, I don’t know.
But I took a fancy for this sweet looking creature. I know my parents would never like to
keep a dog in the house, especially my mother who hated the very sight of an animal running
about the house. She felt that feeding a dog properly was also not easy. There was always
a fear that it might bite somebody and cause much trouble.

2. I am glad that I was able to persuade her to accept my point of view. I told her that feeding
the dog would be my responsibility. As far as its biting goes, I told them that a dog never
bites a person unless provoked. Moreover, | assured them that I would undertake the
responsibility for its regular medical checkup too. Seeing that I wanted a dog so much, my
parents agreed. Although I dare say that they did so only unwillingly. Ican’t tell you how
happy I feel today. T have named the puppy as Jacky. Isn’t Jacky a nice name for a cute
white puppy who has taken a liking for me ?

‘Iam glad that I was able to persuade her to accept my point of view’. What was the writer’s point
of view ?

(1)
(2)
(3) keeping a dog in the house
(4) both (2) and (3)

feeding the cute white puppy
undertaking medical checkups

Options:-

«1, Option ID :- 17,
= 2, Option ID :- 18,
= 3, Option ID :- 19,

= 4, Option ID :- 20,
Answer Given:- 4, Option ID : -20

Question ID:- 6

The word which is opposite in meaning to the word given below is :

INGENUOUS

(1) skilled

(2) arboreal

(3) mnaive

(4) calculating
Options:-

=1, Option ID :- 21,
« 2, Option ID :- 22,
« 3, Option ID :- 23,

= 4, Option ID :- 24,
Answer Given:- 1, Option ID : -21

Question ID:- 7
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Select among the four alternatives the word closest in meaning to the word given in capital

letters :

FOSTERING

(1) safeguarding

(2) neglecting

(3) ignoring

(4) nurturing
Options:-

=1, Option ID :- 25,
« 2, Option ID :- 26,
= 3, Option ID :- 27,

= 4, Option ID :- 28,
Answer Given:- 1, Option ID : -25

Question ID:- 8

Pick the correct meaning of the idiom :
‘Keep something under one’s hat’.

(1) done as soon as it was instructed

(2) after something is done partially

(3) Kkeep something secret

(4) done easily without preparation
Options:-

=1, Option ID :- 29,
=« 2, Option ID :- 30,
= 3, Option ID :- 31,

=« 4, Option ID :- 32,
Answer Given:- 3, Option ID : -31

Question ID:- 9

Which of the following things can be ‘contagious?
(1) aflu

(2) an ache
(3) a sprain
(4)

4 a ligament tear

Options:-

«1, Option ID :- 33,
= 2, Option ID :- 34,
=« 3, Option ID :- 35,

= 4, Option ID :- 36,
Answer Given:- 1, Option ID : -33

Question ID:- 10
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Identify the adverb in the following sentences :
He deserved to succeed. He failed. He failed undeservedly. That was disappointing.
(1) deserved

(2) failed

(3) undeservedly

(4) disappointing
Options:-

«1, Option ID :- 37,
= 2, Option ID :- 38,
=« 3, Option ID :- 39,

= 4, Option ID :- 40,
Answer Given:- 3, Option ID : -39

Question ID:- 11

Complete the sentence :

She is looking for a job in electronic or print media.
(1) either

(2) neither

(3) both

(4) between
Options:-

=1, Option ID :- 41,
= 2, Option ID :- 42,
« 3, Option ID :- 43,

= 4, Option ID :- 44,
Answer Given:- 1, Option ID : -41

Question ID:- 12

Identify the correct spelling :
(1) illigetimate

(2) ilegitimate

(3) illegitimate

(4) illegitemate
Options:-

=1, Option ID :- 45,
= 2, Option ID :- 46,
« 3, Option ID :- 47,

= 4, Option ID :- 48,
Answer Given:- 3, Option ID : -47

Question ID:- 13
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Complete the sentence with the correct form of tense :

What _ to drink, tea or coffee ?
(1)  would you liked
(2) you would liked
(3) would you like
(4) you would like
Options:-

«1, Option ID :- 49,
= 2, Option ID :- 50,
= 3, Option ID :- 51,

= 4, Option ID :- 52,
Answer Given:- 3, Option ID : -51

Question ID:- 14

Complete the sentence with the appropriate phrasal verb :
On hearing the news of his untimely and tragic death, I was grief.
(1) overcome with

(2) overcome of
(3) overcome in
(4) overcome to
Options:-

=1, Option ID :- 53,
= 2, Option ID :- 54,
= 3, Option ID :- 55,

= 4, Option ID :- 56,
Answer Given:- 1, Option ID : -53

Question ID:- 15

The following sentence has two errors. Identify them :

Ten labourers were killed and four injured / when thevan / in which they / are travelling /

(a) (b) (©) (d)

rammed across a truck parked at Rampura crossing.

(@)
(D) (b), (d)
(2)  (b) (e)
(3) (d) (e)
(4) (), (d)
Options:-

=1, Option ID :- 57,
« 2, Option ID :- 58,
=« 3, Option ID :- 59,

= 4, Option ID :- 60,
Answer Given:- 3, Option ID : -59
https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042000... 8/61
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Question ID:- 16

Reorder the word/words given below to form one correct sentence :

this responsibility / that / he cannot shoulder / heis so young.
(a) (b) (©) (d)

(1) (d), (a), (b), (c)

(2)  (d), (b), (<), (a)

(3) (), (b), (d), (a)

(4) (o), (d), (b), (a)
Options:-

«1, Option ID :- 61,
= 2, Option ID :- 62,
= 3, Option ID :- 63,

= 4, Option ID :- 64,
Answer Given:- 2, Option ID : -62

Question ID:- 17

Complete the sentence with appropriate pronouns :

I found book in the garden, but I couldn’t find
(1) my, yours
(2) our’s, mine
(3) mine, yours
(4) someone, my
Options:-

«1, Option ID :- 65,
= 2, Option ID :- 66,
« 3, Option ID :- 67,

= 4, Option ID :- 68,
Answer Given:- 1, Option ID : -65

Question ID:- 18

Complete the sentence with the appropriate set of articles :

economic and market reports for October are detailed in financial report
which will be tabled tomorrow.
(1) a, the
(2) the, the
(3) an, the
(4) an, a
Options:-

=1, Option ID :- 69,
=« 2, Option ID :- 70,
= 3, Option ID :- 71,

= 4, Option ID :- 72,
Answer Given:- 2, Option ID : -70

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=22042000... 9/61
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Question ID:- 19
Identify the underlined parts of speech in the given sentence :

Hey | You are standing on my foot and that is causing me great discomfort.

(1) conjunction, adjective
(2) interjection, verb

(3) interjection, noun

(4) conjunction, noun
Options:-

«1, Option ID :- 73,
= 2, Option ID :- 74,
« 3, Option ID :- 75,

= 4, Option ID :- 76,
Answer Given:- 3, Option ID : -75

Question ID:- 20

Complete the sentence appropriately by choosing the best option from those given below :
The bride was dressed white head foot.

(1) in, on, below

(2) with, from, to

(3) with, to, from
(4)

4) in, from, to

Options:-

«1, Option ID :- 77,
= 2, Option ID :- 78,
=« 3, Option ID :- 79,

= 4, Option ID :- 80,
Answer Given:- 4, Option ID : -80

Subject : GH_Q21-Q40 _JAO5MARSH1

Question ID:- 21

e feu 7T TEner i uget Tad Wel fawe T Trad it

T S & T w18 faam asft wefe amar € 51d o o794 W93 &1 3951 &l 791 -3 71 A fomn
o IS Hes RS §, 1 98 st S fa &1 S 8| sifia ot wnefehdr 35 ara ¥ € T sw gmm
@ oS ] YRS ol € IR Uil ¥ fea foem § 9 Heg s B

T % STER faER it aelw &1 74 279 <H H B
(1) mfee e

(2) EHF HI AT

(3) ST et

(4) T A

Options:-

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204200... 10/61
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=1, Option ID :- 81,
= 2, Option ID :- 82,
« 3, Option ID :- 83,

= 4, Option ID :- 84,
Answer Given:- 2, Option ID : -82

Question ID:- 22

el fou T TN i Ugeht Wa el faehcd Rt w9 shifag-

T ST & T 2R e asft wede ama € 519 &% o791 99 &1 35T &l 79 -3 ¥ ARk foEn
% s HEst AWEST ©, 1 98 st g faga @ s 8| sifieag it wefendr 35 ara | § f s gum it
@ oS ] YRS il © IR el ¥ feia foem o o Heg s B

‘TEdl o' | ard © -
(1) g 7

(2) THEHEH T

(3) Y bl Hel SRY
(4) @ H HHEH

Options:-

«1, Option ID :- 85,
= 2, Option ID :- 86,
« 3, Option ID :- 87,

= 4, Option ID :- 88,
Answer Given:- 3, Option ID : -87

Question ID:- 23

el foU T RIS T Ugeht WA el [dehed ohl oI ehifed-

T ST & T 2R e asft wede ama € 519 &% o791 99 &1 35T &l 79 -3 ¥ ARk foEn
o s Hesl TR ©, 1 98 st g faga @1 s 8| sifierag #i wneferdr 35 A | § o sm gum it
@ oS ] YRS il © IR el ¥ feia foem o o Heg s B

1 faar w8 S E ?
(1) SNTEAR

(2) i YRS B
(3) SR

(4) i YRl Bl

Options:-

=1, Option ID :- 89,
« 2, Option ID :- 90,
= 3, Option ID :- 91,

= 4, Option ID :- 92,
Answer Given:- 4, Option ID : -92

Question ID:- 24
https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204200... 11/61
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A= ST T TN Rl Uget Wad Tl faehed R SI9E ShitTu-

T S & T w18 faam avft wede ava € 919 5 o799 99a &1 35T &l 79 -3 ¥ Ak foEn
% s HEst AWEsT ©, 1 98 st g faga @ s 8| sifiag it wefear 33 A | § T sw gmm it
TE! 55 ] ThS ol © IR Wrel ¥ feia foem o o Heg s 7

RIS % SFER fa=arR =l aedewa -
(1) 3Td He=gUl §

(2) e TE §

(3) HE T d

(4) oTHYE R
Options:-

«1, Option ID :- 93,
= 2, Option ID :- 94,
« 3, Option ID :- 95,

= 4, Option ID :- 96,
Answer Given:- 1, Option ID : -93

Question ID:- 25

A<l ST TT TN il Uget Ward TEl faehed Rl SI9E ShiteTu-

T S & T 2R e At wedeh ana & 51d &8 &791 99 &1 35T &l 99 -3 ¥ ARk foEn
% 1D HEsl AwEST ©, 1 98 st g fagw @ s 8| e it wefendr 33 A | § T s gmm it
@l e 1 Uhs oidl & 31k dier & fea fear o St Heg Sl &

‘e’ & et § -
(1) =l

(2) HHH

(3) T

(4) HEA
Options:-

=1, Option ID :- 97,
= 2, Option ID :- 98,
« 3, Option ID :- 99,

= 4, Option ID :- 100,
Answer Given:- 1, Option ID : -97

Question ID:- 26

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204200... 12/61
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“Heq T HeEe Y § -
(1) &% STl
(2) EBRHET
(3) ®F ST
(4) Tor1 = & S
Options:-

=1, Option ID :- 101,
= 2, Option ID :- 102,
= 3, Option ID :- 103,

= 4, Option ID :- 104,
Answer Given:- 2, Option ID : -102

Question ID:- 27

ST T STTen eX ' iR W 91 | -
(1) AHERT B

(2) SHATH

(3) YW FE FA

(4) TR

Options:-

«1, Option ID :- 105,
= 2, Option ID :- 106,
= 3, Option ID :- 107,

= 4, Option ID :- 108,
Answer Given:- 4, Option ID : -108

Question ID:- 28

‘g’ @ g TR ® -
(1) ™

(2) T

(3) @R

(4 dT=
Options:-

=1, Option ID :- 109,
= 2, Option ID :- 110,
=« 3, Option ID :- 111,

= 4, Option ID :- 112,
Answer Given:- 1, Option ID : -109

Question ID:- 29

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204200... 13/61
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‘YeEE ' s Ug T faue € -

(1) WwWHAEH

(2) WHEH

(3) W& forg e

(4) TRl e
Options:-

=1, Option ID :- 113,
= 2, Option ID :- 114,
= 3, Option ID :- 115,

= 4, Option ID :- 116,
Answer Given:- 2, Option ID : -114

Response Sheet

Question ID:- 30

‘e + ey’ forem iy fa=g 7
(1) WEved

(2) HETRH

(3) HEFSURW

(4) WETRW

Options:-

=1, Option ID :- 117,
= 2, Option ID :- 118,
= 3, Option ID :- 119,

= 4, Option ID :- 120,
Answer Given:- 1, Option ID : -117

Question ID:- 31

‘a¥a’ = Hiu-fase § -
(1) du+1Wd
(2) qA+F
(3) ¥ +wd
(4) % +TF

Options:-

=1, Option ID :- 121,
= 2, Option ID :- 122,
=« 3, Option ID :- 123,

= 4, Option ID :- 124,
Answer Given:- 2, Option ID : -122

Question ID:- 32

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204200... 14/61
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‘a1 wEHarE e @ 6 -
(1)
(2) A&
(3) I
(4) =Y
Options:-

=1, Option ID :- 125,
= 2, Option ID :- 126,
= 3, Option ID :- 127,

= 4, Option ID :- 128,
Answer Given:- 2, Option ID : -126

Question ID:- 33

'IT% 98 F 99 R H STEFR © -

(1) 39HI
(2) FHR
(3) ST
(4) ®UH
Options:-

«1, Option ID :- 129,
= 2, Option ID :- 130,
= 3, Option ID :- 131,

= 4, Option ID :- 132,
Answer Given:- 3, Option ID : -131

Question ID:- 34

ToEH ¥eS h1 ISR & -
(1) U

(2) g

(3) f&

(4) fo=
Options:-

=1, Option ID :- 133,
= 2, Option ID :- 134,
= 3, Option ID :- 135,

= 4, Option ID :- 136,
Answer Given:- 1, Option ID : -133

Question ID:- 35

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204200... 15/61
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‘qeva’ vIes 1 ISR TR © -

(1) |
(2) o
(3) @
(4) =k
Options:-

=1, Option ID :- 137,
= 2, Option ID :- 138,
=« 3, Option ID :- 139,

= 4, Option ID :- 140,
Answer Given:- 4, Option ID : -140

Response Sheet

Question ID:- 36

‘M TN A F e TF W= © -

(1) 39
(2 wEY
(3) P
(4) 3IJUA
Options:-

=1, Option ID :- 141,
= 2, Option ID :- 142,
= 3, Option ID :- 143,

= 4, Option ID :- 144,
Answer Given:- 2, Option ID : -142

Question ID:- 37

(1) @i
(2) wEd
(3) =M
(4) =
Options:-

=1, Option ID :- 145,
= 2, Option ID :- 146,
= 3, Option ID :- 147,

= 4, Option ID :- 148,
Answer Given:- 1, Option ID : -145

Question ID:- 38
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Freafafaa | s amm -

(1) e T EH TH 79 ' 9

(2) Uedi | 4 HHER % T
(3) @e-Tifedi =t weg Tl =y
(4) N STY-3TT =R =l Y

2

Options:-

=1, Option ID :- 149,
= 2, Option ID :- 150,
= 3, Option ID :- 151,

= 4, Option ID :- 152,
Answer Given:- 2, Option ID : -150

Question ID:- 39

Frfafed & & ShfdT s ¢ -
() =5
(2) ™I
(3) T
(4) Wete
Options:-

=1, Option ID :- 153,
= 2, Option ID :- 154,
= 3, Option ID :- 155,

= 4, Option ID :- 156,
Answer Given:- 3, Option ID : -155

Question ID:- 40

“geft" 1 T dg9E €9 © -

(1) usft
(2) afai
(3) ufemt
(4) g
Options:-

=1, Option ID :- 157,
= 2, Option ID :- 158,
=« 3, Option ID :- 159,

= 4, Option ID :- 160,
Answer Given:- 1, Option ID : -157

Subject : GK_Q41-Q60_JA05MARSH1

Question ID:- 41
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in which they happened ?

(A) Khilafat Movement

(B) Swadeshi Movement

(C) Home Rule Movement

(D) Civil Disobedience Movement

Select the correct answer using the code given below :

(D (A) (B) (O, (D)
(2)  (B) (A) (D), (O
(3)  (B), (©), (A), (D)
(4 (©), B), (A), (D)

g wm ° 9 ufed 8
(A) Tearrd st<ier
(B) < =T

(C) TmEa =

(D) wfgTg & S=eH

i U 7T 2 = YA ik Tet SR 1 94T i ;
(1) (A), (B), (C), (D)

(20 (B), (A) (D). ()
(3)  (B), (C), (A), (D)
(4)  (©. (B), (A) (D)

-

Options:-

=1, Option ID :- 161,
= 2, Option ID :- 162,
= 3, Option ID :- 163,

= 4, Option ID :- 164,
Answer Given:- 4, Option ID : -164

Placing the earliest event at first, arrange the following historical events in the chronological order

HeIY el Hfed 51 i 79 H ¥ Ul Wad gu, frefefad tfaeraes seis ) hemgshn § saftem &,

Question ID:- 42

Which of the following pairs is not correctly matched ?

Dance forms Respective States
(1) Bharatanatyam - Tamil Nadu
(2) Kathakali 3 Kerala
(3) Mohiniyattam : Kerala
(4) Sattriva : Karnataka

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204200... 18/61



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 3:42 PM Response Sheet
Frfafad g § 9 =F w1 gafed & 82
T ®Y TS T
(1) W™ @ dibe g
(2) wUHeAl . HW
(3) wifediagn : %
(4) =B . HAR®
Options:-

=1, Option ID :- 165,
= 2, Option ID :- 166,
= 3, Option ID :- 167,

= 4, Option ID :- 168,
Answer Given:- 4, Option ID : -168

Question ID:- 43

Match the folk theatres under List - I with states where they are popular, given under List - II.

List - I List - IT
(Folk Theatre) (States)
(A) Bhaona (D Goa
(B) Bhavai (I)  Odisha
(C) Dashavatar (II) Assam
(D) Jatra (IV) Gujarat

Select the correct answer using the code given below :
(A) B) (O (D)

H @ @v) @ ()
(2) (@v) (I @O @
3 @ mm @ @)
4) 1 ) @O @
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Tei-1 | feu 7 ek Aredi =1 geit-11 4 fou a1 | gafad =i, s@ & gfEg €
eI -1

(e ) (T)
(A) IS : (D TieEn
(B) S Do () e
(C) =emEaR () 3TEH
(D) S (IV) ISR

i< fu 7T 2 1 YANT T Tal SN H F9T F
(A) B) (©) (D)

1 @O 4av) 4
(2) @v) {m @ (a1
(3) @ (@n @ @v)
(4) @n ({Iv) @ (1)
Options:-

=1, Option ID :- 169,
= 2, Option ID :- 170,
=« 3, Option ID :- 171,

= 4, Option ID :- 172,
Answer Given:- 4, Option ID : -172

Question ID:- 44

Which of the following banks has struck a deal to buy retail business of City bank in India ?
(1) Kotak Mahindra Bank

(2) HDFC
(3) Punjab National Bank
(4) Axis Bank

ford ook < YA 1 92 Siek % Geu SR ®i BiiE wl Hiel {2

(1) e gfe=r %

(2) TUH. Sl U

(3) HSiE Y Sk

(4) ufFEg d®
Options:-

«1, Option ID :- 173,
= 2, Option ID :- 174,
= 3, Option ID :- 175,

= 4, Option ID :- 176,
Answer Given:- 4, Option ID : -176

Question ID:- 45
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Which country has surpassed China as India’s biggest trading partner in 2021-22 ?
(1) Australia

(2) US.A.
(3) France
(4) Canada

2021-22 #H, foFH 29 7 YRG & Hod 9 S AR % &9 9 =1 %1 9 o918 fen €2

(1) s

(2) F WG

(3) W

(4) FHATRI
Options:-

«1, Option ID :- 177,
= 2, Option ID :- 178,
= 3, Option ID :- 179,

= 4, Option ID :- 180,
Answer Given:- 2, Option ID : -178

Question ID:- 46

Right to freedom guaranted by the Constitution of India under Article 19 is available to :
(1) All persons on the Indian soil

(2) Citizens of India only

(3) Foreign nationals also

(4) Citizens of friendly nations also, as notified by the President of India

TRA % WG % TIoE 19 % g Yed Wsdl o A Sues ¢
(1) R ST 9 | =i =1

(2) Had WRA & AN
(3) facferi = o
(4) 9Rd & U % g1 SfEgEd TE-ug & Amfen o o

Options:-

=1, Option ID :- 181,
= 2, Option ID :- 182,
= 3, Option ID :- 183,

= 4, Option ID :- 184,
Answer Given:- 2, Option ID : -182

Question ID:- 47
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Which of the following High Court/s has/have territorial jurisdiction over more than two states ?
(A) Bombay High Court

(B) Punjab and Haryana High Court

Select the correct answer using the code given below :

(1) (A) only

(2)  (B)only
(3) Both (A) and (B)
(4) Neither (A) nor (B)

Frefafad 3= = § | frae wefeen aefuwn 1 9 siftw S e ?
(A) s 39 A

(B) TSiE SR BN 3= AT

il fgU TTU e 1 9ANT i Tal IR 1 F5H

() e (A)

(2) Fad (B)

(3) (A) SR (B) i

(4) (A)dR (B) H G FE T

Options:-

«1, Option ID :- 185,
= 2, Option ID :- 186,
=« 3, Option ID :- 187,

= 4, Option ID :- 188,
Answer Given:- 2, Option ID : -186

Question ID:- 48

Who, of the following, Vice-President/s of India has/have also served as the President of India ?
(A) Dr. Shankar Dayal Sharma

(B) Krishan Kant

(C) Varahagiri Venkatagiri

Select the correct answer using the code given below :

(I) (A)and (B) only
(2) (A)and (C) only
(3) (B) and (C) only
(4) (B) only
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frefafea § 4 g F fra-form soupufa = v & uufa =1 off ggvr duen 2
(A) =1 SR T o

(B) W H

(C) =EfR sewefii

== feU g %2 o1 WA ek WE I 1 = R
(1) @m(maﬁl(m

(2) aﬂ?(c

(3) é»—ora(B)

(4) @ (B)

Options:-

=1, Option ID :- 189,
= 2, Option ID :- 190,
= 3, Option ID :- 191,

= 4, Option ID :- 192,
Answer Given:- 4, Option ID : -192

Question ID:- 49
Which of the following is correct about the qualifications set out by the Government of India for
the appointment of the Chief of Defence Staff (CDS) ?
(1) An officer to be considered for CDS must only be in the rank of General.
(2)  On the date of appointment, he/she should be below 65 years of age.
(3) Even retired Air Marshal below the age of 62 is eligible to be appointed as CDS.
(4) The second - highest rank officer in the military are not eligible for the post of CDS.

i s fethg =’ (H. € w§) & Fgia % fae ara weer g i draasi % an |
Frefafas § 9 #0 @ad 32

(1) HI.E1L.TH % 98 W Fgfea & foru fah Seeet Yo o sifashrl 21 93 2 |

(2) frafe & &7 sast oy 65 ad 9 %y gt =fen |

(3) 62794 ¥ HH 3 o Hal1gd TR qnid off di.Sl.ud. & ®9 4 f7a eH o 9= =i

(4) BT fgde-wat=a & % afusid 9.8huy. & 9 & fon o =& €

Options:-

«1, Option ID :- 193,
= 2, Option ID :- 194,
=« 3, Option ID :- 195,

= 4, Option ID :- 196,
Answer Given:- 1, Option ID : -193

Question ID:- 50
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When was the Rashtriya Poshan Mah celebrated in 2022 under ‘“The Poshan Abhiyan’, a
Government of India flagship Programme ?

(1) 1 August 2022 to 31 August 2022

(2) 1 September 2022 to 30 September 2022
(3) 1 November 2022 to 30 November 2022
(4) 1 December 2022 to 31 December 2022

YA HEFR & Y@ s O S & qed oy 2022 H WEE 9160 17 e 7R T 2
(1) 1 3FT& 2022 9§ 31 37T& 2022 6

(2) 1 faawr 2022 9§ 30 faawr 2022 @

(3) 1 TareR 2022 § 30 TEFE 2022 76

(4) 1 fegwz 2022 9 31 S8R 2022 @6

Options:-

=1, Option ID :- 197,
= 2, Option ID :- 198,
=« 3, Option ID :- 199,

= 4, Option ID :- 200,
Answer Given:- 2, Option ID : -198

Question ID:- 51

The Theme of India’s G20 Presidency is :
(1) One Earth, One Environment

(2) One Earth, One Future

(3) One Earth, One Family, One Future
(4)

4 One Earth, One Environment, One Future

IR ST SN1-20 T ST 1 g ¢
(1) T Jei, T Te
(2) T g, T Hias
(3) Wk g, U URER, U Aias
(4) U 9], Th YA, T Hia=

Options:-

=1, Option ID :- 201,
= 2, Option ID :- 202,
= 3, Option ID :- 203,

= 4, Option ID :- 204,
Answer Given:- 3, Option ID : -203

Question ID:- 52
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India has signed in April 2022 an Economic Cooperation and Trade Agreement (ECTA) with a
developed country. Identify the country :

(1) England

(2) USA
(3) Australia
(4) Japan

AYA-2022 H U faerfad 91 o 919 YRd A onfeier WeArT SR AR JuEar’ [ €A, W eseR

(2) AT

(3) siforn

(4) WA
Options:-

=1, Option ID :- 205,
= 2, Option ID :- 206,
= 3, Option ID :- 207,

= 4, Option ID :- 208,
Answer Given:- 2, Option ID : -206

Question ID:- 53

Jnanpith Award for the year 2021 has been conferred upon :
(1) Nilmani Phookan Jr.

(2) Damodar Mauzo

(3) Tanikella Bharani

(4) Gitanjali Shree

2021 % fe e qRER R fam &7
(1) e T SR

(2) EHECHS

(3) TTehen WA

(4) Tiarsifa =i
Options:-

=1, Option ID :- 209,
= 2, Option ID :- 210,
= 3, Option ID :- 211,

= 4, Option ID :- 212,
Answer Given:- 1, Option ID : -209

Question ID:- 54
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2001 FO32 is :
(1) a Covid Vaccine

(2) a new planet discovered by NASA
(3) an asteroid
(4)

4) a new space shuttle launching pad of India

2001 FO32 ¥ :

(1) TH Fifas-2F

(2) TE1 BRI @IS T UF T UT

(3) T &EUR

(4) RGN T A SR A it g
Options:-

«1, Option ID :- 213,
= 2, Option ID :- 214,
=« 3, Option ID :- 215,

= 4, Option ID :- 216,
Answer Given:- 2, Option ID : -214

Question ID:- 55

Which of the following Institutes has developed a method for detecting corona virus using mass
spectrometer ?

(1) Institute of Genomics and Integrative Biology
(2) All India Institute of Medical Sciences, Delhi
(3) Indian Council of Medical Research

(4) Tata Institute of Fundamental Research

frefafaa § 9 forg deum 3 o9 S’ =1 S9AM 3% hRHE 9 1 9a1 o & fdu s g
foarepfaa =t &2

(1) TSFITHeRT IR FHad S e

(2) @ifEer ardra sfeaH Hem, foee
(3)  RET SN SIHuH qivg
(4) TP FifvER faem F

Options:-

=1, Option ID :- 217,
= 2, Option ID :- 218,
= 3, Option ID :- 219,

= 4, Option ID :- 220,
Answer Given:- 1, Option ID : -217

Question ID:- 56
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Which of the following statement/s is/are correct about ACE (Action for Climate Empowerment) ?

(A) This term was adopted by UNFCCC (United Nations Framework Convention on Climate
Change)

(B) There are eight elements of ACE.

Select the correct answer using the code given below :

(1) (A) enly

(2)  (B) only

(3) Both (A) and (B)

(4) Neither (A) nor (B)

TH.E.(Action for Climate Empowerment ) / (TsRTH TR FATEHE 3HERH=) & o9l H fefafea o
Y FH-FAEIEHE?

(A) FE 9158 4. 0. Uh.HLHLHL (FATEeS 7919 hHah $-avF i1 FeIsHe =s1) o gRI STUA/1 741 o1
(B) THIE & 12 T B

i<l fqu U %2 = TANT R R ST A FIA HL

(1) ad (A)

(2) W(B)

(3) (A) SR (B) Sl

(4) (A) 3R (B) ® q FE T

Options:-

=1, Option ID :- 221,
= 2, Option ID :- 222,
= 3, Option ID :- 223,

= 4, Option ID :- 224,
Answer Given:- 1, Option ID : -221

Question ID:- 57

Tenzing Norgay National Adventure Award-2021 has been conferred upon :
(1)  Amit Bisht

( Naina Dhakad

(3) Priyanka Mohite

(4) Taka Tumut

TS AR TP HEfEe ERR-2021 (National Adventure Award-2021) T8 9&F feran 71 82

(1) g fas
(2) T RS
(3) Toa=nr wifed
(4) TRl T
Options:-
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=1, Option ID :- 225,
= 2, Option ID :- 226,
=« 3, Option ID :- 227,

= 4, Option ID :- 228,
Answer Given:- 3, Option ID : -227

Question ID:- 58

Sushila Devi has been conferred upon Arjuna Award 2022 for which of the following sports ?
(I) Wrestling

(2) Boxing
(3) Judo
(4) Cricket

Frefafaa ° 9 fom @a & fau geiien Sai =i 315H [ERr-2022 M fema T 8 7

(1) Fw
(2) TeRRSSl
(3) el
(4) foweRe

Options:-

«1, Option ID :- 229,
= 2, Option ID :- 230,
= 3, Option ID :- 231,

= 4, Option ID :- 232,
Answer Given:- 1, Option ID : -229

Question ID:- 59

Which of the following statement/s is/are not correct ?

(A) Alluvial soils are widespread in northern planes.

(B)  Alluvial soils are generally rich in phosphorus, but poor in potash.
Select the correct answer using the code given below :

(1) (A) only

(2)  (B) only
(3) Both (A) and (B)
(4) Neither (A) nor (B)
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Freferfad e § | #7 w1 9d &2

(A) reirg fagt Set femi # el g8 1

(B) weie gt H AIdR W WIERRE 1 WeRdl BIl |, e rerer i St gl
=i feU T 2 1 YANT ¥k Fal 3R H1 =I5 i

(1) aa (A)

(2) e (B)

(3) (A) 3l (B) g

4) (A) 3R (B) ®§ § #E &
Options:-

«1, Option ID :- 233,
= 2, Option ID :- 234,
= 3, Option ID :- 235,

= 4, Option ID :- 236,
Answer Given:- 3, Option ID : -235

Question ID:- 60

Which of the following Biosphere Reserves is the largest in terms of Geographical area ?

(1) Panna
(2) Nilgiri
(3) Sunderban
(4) Manas

Frefafed sia dea =i 8§ 9 o sewme #i gfe & %F o1 o ge8 91 82

() 9=

(2) et

(3) H=LEd

(4) HFH
Options:-

=1, Option ID :- 237,
= 2, Option ID :- 238,
=« 3, Option ID :- 239,

= 4, Option ID :- 240,
Answer Given:- 3, Option ID : -239

Subject : LR_Q61-Q80_JA05MARSH1

Question ID:- 61
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In the following number/letter series some of the terms are missing, which are given in that order
as one of the alternatives below it. Select the correct alternative.

Z1YZ _X_Z3W_Y_4

4y 2,X.Y,Z
@ ZYRZ
3) 3,Y,ZX
4 2,7 X2

Frfafad g/ R 9o H %8 98 e 7, S A= feu T fasedi # 9 fondt wer | 3t e A feu e E ) wd
ferehed ol 3 whifall -

Z1YZ _X_Z3IW_Y _ 4

(1) 2,5 Y2

(2) ZY,X Z

(3) B Y,Z X

(4) 2,72, X, Z
Options:-

=1, Option ID :- 241,
= 2, Option ID :- 242,
= 3, Option ID :- 243,

= 4, Option ID :- 244,
Answer Given:- 2, Option ID : -242

Question ID:- 62

certain pairs of words are given, out of which the words in all pair except one, bear a common
relationship. Choose the odd pair.

(1) Prism - Glass

(2) Book - Paper
(3) Framer - Crop
(4) Butter - Milk

vredl % 2 g feu o €, e 4 geft gl % v, faam w7 %, v 9O w9 4 Hefia €1 fawm g
T =TI HIfT |

(1) frsm - =

(2) Y&IF - HFTS

(3) TopEmE - wHA

(4) HHRET -3
Options:-

«1, Option ID :- 245,
= 2, Option ID :- 246,
= 3, Option ID :- 247,
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= 4, Option ID :- 248,
Answer Given:- 3, Option ID : -247

Question ID:- 63

If “A” is the brother of “B". “C’ is the father of “A’. ‘D’ is the brother of ‘E". “E’ is the daughter of ‘B’.
Then who is the uncle of ‘D’ ?

(1) B
(2) E
3) A
(4) C

Tfg ‘A’ M 8B &, ‘C €A’ w1, ‘D/WIE § ‘B’ ‘B I § B, @9 D I Sishel (I=E/ M) HH
2T 2

(1) B
(2) E
3 A
4) C
Options:-

=1, Option ID :- 249,
=« 2, Option ID :- 250,
= 3, Option ID :- 251,

= 4, Option ID :- 252,
Answer Given:- 3, Option ID : -251

Question ID:- 64

One term in the following number series is wrong. Find the wrong term.
6, 14, 30, 62, 128, 254, 510

(1) 510
2) 62
(3) 254
(4) 128

fr=fafag e 9oft 9 v U8 7T9d © | 7o 9E F1d Sifelg -
6, 14, 30, 62, 128, 254, 510

(1) 510
(2) 62
(3) 254
(4) 128
Options:-

=1, Option ID :- 253,
= 2, Option ID :- 254,
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=« 3, Option ID :- 255,

= 4, Option ID :- 256,
Answer Given:- 3, Option ID : -255

Question ID:- 65

‘Fire” is related to “Ashes’ in the same way as ‘Explosion’ is related to _?2

(1) Sound
(2) Debris
(3) Flame
(4) Bomb

‘i’ Heifd & T 9, 36 TR 4, o9 R ¥ ‘faepe weEttg g 2 |

(1) ==
(2) Heddl
(3) Sqldl
(4) <9
Options:-

=1, Option ID :- 257,
= 2, Option ID :- 258,
= 3, Option ID :- 259,

= 4, Option ID :- 260,
Answer Given:- 1, Option ID : -257

Question ID:- 66

In a code language "LEMON’ is coded as ‘p tsr a”, ‘NET" is coded as ‘s p ¢’ and ‘E A T” is written
as ‘c f p’, then how will ‘A’ be written in this code language ?

1) p
2 ¢
3) f
4) s

foreit Fpe/Herdl 9o H§ 'LEMON’ &l ‘ptsra’, @ 18 ‘NET Hl ‘s pc AR'EAT @l ‘cfp’ foran
T ", 99 A’ %I SHI e 9 | Fa feran S ?
) P

F e T v T o S,

= 2 P

S S S
s

Options:-
=1, Option ID :- 261,
= 2, Option ID :- 262,
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=« 3, Option ID :- 263,

= 4, Option ID :- 264,
Answer Given:- 3, Option ID : -263

Question ID:- 67

Find the word which cannot be formed by using the letters of the given word :

EVACUATION
(1) CAUTION
(2) AUCTION
(3) INVENTION
(4) VACATION

9E I F1d Hifere S feu U v 3 1erl 1 SUAN e S99 A1 S 9|

EVACUATION

(1) CAUTION

(2) AUCTION

(3) INVENTION

(4) VACATION
Options:-

=1, Option ID :- 265,
= 2, Option ID :- 266,
=« 3, Option ID :- 267,

= 4, Option ID :- 268,
Answer Given:- 3, Option ID : -267

Question ID:- 68

First two numbers have a certain relationship to each other, select the correct option which has the
same relationship as the original pair of numbers with third number.

84 :40::138 :7?

(1) 70
(2) 67
(3) 69
4) 74

v g1 et ° Ay °§ ueh fAfvEd g9y § 139 9el fawen o1 99e Sife oy dad gen o g

3 T T T €A A
84 :40::138:7

(1) 70

(2) 67

(3) 69

(4 74
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Options:-

=1, Option ID :- 269,

= 2, Option ID :- 270,

= 3, Option ID :- 271,

= 4, Option ID :- 272,
Answer Given:- 2, Option ID : -270

Question ID:- 69

If the last ten letters of the English alphabet is written in the reverse order, which letter will be the
eighth to the right of the fourteenth letter from the left end ?

() T
2 E
3) S
4 U

gfe SISt auimme & ifaq <8 7aR vfary & fo@ =10, 76 919 91 9 diced S8 F S T 3ol &R
-1 B ?

() T
2y B
(3 S
4 U
Options:-

=1, Option ID :- 273,
= 2, Option ID :- 274,
= 3, Option ID :- 275,

= 4, Option ID :- 276,
Answer Given:- 4, Option ID : -276

Question ID:- 70

The first two terms have a certain relationship. Select the correct option which has the similar
relationship with the third term :

TOYS: BWGA :: MARE: _ 2

(1) VIZM
(2) UIZM
(3) UIAM
(4) UIZN
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TR 1 9el § U A= ey § | 39 We faswey o1 99 Fifeu fordent d 6 g & WY 9EE Had 8l
TOYS: BWGA :: MARE: _ 2

(1) VIZM
(2) UlIZM
(3) UIAM
(4) UIZN
Options:-

=1, Option ID :- 277,
= 2, Option ID :- 278,
= 3, Option ID :- 279,

= 4, Option ID :- 280,
Answer Given:- 4, Option ID : -280

Question ID:- 71

Find the odd one out:
(1) Cricket

(2) Billiards

(3) Hockey

(4) Foot Ball

IERERIEEICICAIE 1l

(1) TeRehe

(2) feferrsa

(3) ®IRl

(4) eu
Options:-

=1, Option ID :- 281,
= 2, Option ID :- 282,
= 3, Option ID :- 283,

= 4, Option ID :- 284,
Answer Given:- 2, Option ID : -282

Question ID:- 72

Choose the correct option to replace question mark (?) is the following number series :
2, 6, 21, ?, 445, 2676

(1) 168
(2) 88

3) 176
4) 212
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Tr=fafea e 9ot § we faws ( ?2) =t gfaeenfua & fau 9@t fasey =1 =#e SHifSu -
2,6, 21, ?, 445, 2676

(1) 168
(2) 88
(3) 176
(4) 212

Options:-

=1, Option ID :- 285,
= 2, Option ID :- 286,
= 3, Option ID :- 287,

= 4, Option ID :- 288,
Answer Given:- 2, Option ID : -286

Question ID:- 73

How many meaningful words can be formed by using the fourth, seventh and eighth letters of the
word “TREASURE’ using each letter only once in each word ?

(1) One
(2) Three
(3) Two
(4) Four

v&s 'TREASURE' & =14, |Iqd, 3R 3739 31&W &1 3UAN &hieh U foha= 1equl weg 91T 51 994 €,
STeH goieh wes H Ycith 14 o1 SN Shelel Ueh & I foRdT A B

() T
(2) @
(3) @
(4) ¥R
Options:-

«1, Option ID :- 289,
= 2, Option ID :- 290,
= 3, Option ID :- 291,

= 4, Option ID :- 292,
Answer Given:- 3, Option ID : -291

Question ID:- 74

Raghav and Bob are twins. Bob's sister is Rekha. Rekha’s husband is Raj. Raghav’s mother is
Leela. Leela’s husband is Ramesh. How is Ramesh related to Raj ?

(1) Brother
Fater in law
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o ST SifE Sedl § | 99 i 98 T ¥ | 0 w1 ufd TS ¥ | TEE i AT el § | efie st W g | W w5

TS § 1 Hae § 2
(1) e

(2) WY

(3) 9

(4) =S
Options:-

«1, Option ID :- 293,
= 2, Option ID :- 294,
= 3, Option ID :- 295,

= 4, Option ID :- 296,
Answer Given:- 2, Option ID : -294

Question ID:- 75

In the following letter series, some of the terms are missing, which are given in that order an one of
the alternatives below it. Select the correct alternatives.

yxx _xXyy_ Yy Xyx_ YX

(1) x,xyy

2 yxyx
() vy
4 xyxvy

Frfafaa srer goft 8, =E ue Mae €, 51 = fu 7 famei 7 9 et v ooy # 36t m ° fau mu §
wel fomey @ =99 Hifw
YyXX_Xyy__y__xyx__yx

) xxyy

2 yxyx
B) vxrxy
4 % Yxy
Options:-

=1, Option ID :- 297,
= 2, Option ID :- 298,
= 3, Option ID :- 299,

= 4, Option ID :- 300,
Answer Given:- 3, Option ID : -299

Question ID:- 76
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If ‘'T"=20 and "TAME’ =39, then ‘'TOYS = ?

(1) 78
(2) 79
(3) 59
4) 93

gfe ‘T’ =20 3 ‘TAME =39 §, /st ‘TOYS = ?

(1) 78
(2) 79
(3) 59
(4) 93

Options:-

=1, Option ID :- 301,
= 2, Option ID :- 302,
= 3, Option ID :- 303,

= 4, Option ID :- 304,
Answer Given:- 2, Option ID : -302

Question ID:- 77

word :

G L A D " L N I
1 2 3 4 5 6 7 8
(1) B8,6,2 8 1, 785

(2) 3,6,2.87 %o,4

3) 1,3,2,457,6,8

(4 3,6,2,8175,4

HEAsl o TH HASH o1 =97 it foed swili =l qegar sHafeed i I Uh A0 31 &

G L A D E I N I
1 2 3 4 5 6 7 8
(1) 3,6,2,81,7,4,5

(2) 3,6,2,8 71,54

3y 1,8,2457,6,8

(4) 3,6,2,8,1,7,5,4
Options:-

«1, Option ID :- 305,
= 2, Option ID :- 306,
=« 3, Option ID :- 307,

= 4, Option ID :- 308,
Answer Given:- 2, Option ID : -306
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Question ID:- 78

The groups of letters have a certain relationship except one of them which is different from others.
Find the odd one out:

(1) PQR : SQO
(2) EFG:HFD
(3) LMN : OMK
(4) TUV :SUW

el & wEl | u fAfvaa Hey 2, faem ur & S o 9 i g faue w9e 9. #ife

(1) PQR : SQO
(2) EFG:HFD
(3) LMN : OMK
(4) TUV :SUW

Options:-

=1, Option ID :- 309,
= 2, Option ID :- 310,
= 3, Option ID :- 311,

= 4, Option ID :- 312,
Answer Given:- 4, Option ID : -312

Question ID:- 79

If it is given 3+5—2=30, 6+7—5=60 then what will be 4+8-3=7?
70

6]
_|_
1]
|
6]
Il
5]
o
O
+
~J]
|
Ul
Il
=)
=
gl
P
e
_|_
o0
|
s
RS

Options:-

«1, Option ID :- 313,
= 2, Option ID :- 314,
= 3, Option ID :- 315,

= 4, Option ID :- 316,
Answer Given:- 3, Option ID : -315

Question ID:- 80
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In the following first two terms are related in a certain way, select the correct option which has the
same relationship as the original pair of words with third word.

Select of Liberty : US.A. :: Pyramid: 2
(1) Egypt

(2) Spain
(3) France
(4) Italy

fr=fafaa 9, gom € 18 v Ffvad yer 3 defeq € 1 39 98t fasheq &1 594 shifau faad 9 vsg 9 @
TIF Ha E S wed F A JHH T
éﬁ@”f@ﬁaﬁ:q{@,m ccfotfe . 2

(y &
(2
(3) Wi
(4) gl
Options:-

=1, Option ID :- 317,
= 2, Option ID :- 318,
= 3, Option ID :- 319,

= 4, Option ID :- 320,
Answer Given:- 1, Option ID : -317

Subject : CL_Q81-Q100_JAO5MARSH1

Question ID:- 81

Binary numbers consist of

(1) Oand1

(2) 0to?2

3) 0to7

(4 0to9

A 3R (Binary Numbers) H fafda g
(1) 0&R1

(2) 0¥H2

(3) 0#|7

(4) 0¥H9
Options:-

=1, Option ID :- 321,
= 2, Option ID :- 322,
= 3, Option ID :- 323,
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= 4, Option ID :- 324,
Answer Given:- 1, Option ID : -321

Question ID:- 82

Which devices of computer systems convert human-understandable data and instructions into a
form that computers understand and process ?

(1) Printers
(2)
(3) Input devices

(4) Output devices

Monitors

HOEL YUl o hiH H 4 HHE-H95 R AN S SR e il eget g 99y S e gy o

(1) fHez

(2) i

(3) ¥ A

(4) SsEge oA
Options:-

=1, Option ID :- 325,
= 2, Option ID :- 326,
= 3, Option ID :- 327,

= 4, Option ID :- 328,
Answer Given:- 3, Option ID : -327

Question ID:- 83

ROM stands for :

(1) Read On Memory

(2) Read Only Memory
(3) Random On Memory
(4)

4 Random Only Memory

M (ROM) &1 319 & :

(1) Read On Memory

(2) Read Only Memory

(3) Random On Memory
(4) Random Only Memory

Options:-

=1, Option ID :- 329,
= 2, Option ID :- 330,
= 3, Option ID :- 331,
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= 4, Option ID :- 332,
Answer Given:- 2, Option ID : -330

Question ID:- 84

CPU stands for :

(1) Central Processing Unit

(2) Control Programming Unit
(3) Central Programming Unit
(4)

4 Compute & Processing Unit

i (CPU) &1 319 € -

(1) Central Processing Unit

(2) Control Programming Unit
(3) Central Programming Unit
(4) Compute & Processing Unit

Options:-

«1, Option ID :- 333,
= 2, Option ID :- 334,
= 3, Option ID :- 335,

= 4, Option ID :- 336,
Answer Given:- 1, Option ID : -333

Question ID:- 85

Which of the following is not an example of Operating System ?

(1) 10S

(2) Linux

(3) Android
(4) MS Office

TTH | 1 Ueh Wb ol YR Tl (Operating System) 9@l @ ?
(1) 3T 3TTH (i09)

(2) a9 (Linux)

(3) TglE (Android)

(4) THTH AR (MS Office)

Options:-

«1, Option ID :- 337,
= 2, Option ID :- 338,
= 3, Option ID :- 339,

= 4, Option ID :- 340,
Answer Given:- 4, Option ID : -340
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Question ID:- 86

Which of the following is the largest memory unit compare to the other available options ?
(1) Kilo Byte

(2) Giga Byte
(3) Peta Byte
(4) Mega Byte

Frefafad § 4 = o= fasedl &1 gom & o9 oS Gue 5 € 2

(1) Toell aEe
(2) M EES
(3) U =R
(4) T AR
Options:-

=1, Option ID :- 341,
= 2, Option ID :- 342,
= 3, Option ID :- 343,

= 4, Option ID :- 344,
Answer Given:- 3, Option ID : -343

Question ID:- 87

Which of the following software you preferred most to write a formal application ?
(1) Microsoft Edge
(2) Microsoft Word
(3) Microsoft Excel
(4)

4 Microsoft Power Point

e ivEie aEed faes & fau ey 390 9 forg S = gl 21fys ST &3 € 2
(1) WEHER T

Options:-

=1, Option ID :- 345,
= 2, Option ID :- 346,
= 3, Option ID :- 347,

= 4, Option ID :- 348,
Answer Given:- 2, Option ID : -346

Question ID:- 88
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The most popular combination of short cut keys to paste some copied content in most of the MS
office applications is :

(1)  Alt+c
2) Alt+v
(3) ‘Cl+4c
(4) Ctrl+v

sfererial wHUR AR Tl o § =t fafas sl 61 9 0 F fau fae S1eE fdee $: &
TR o ST €

(1) Alt+c
(2) Alt+v
(3) CHl+e
(4) Ctrl+v

Options:-

=1, Option ID :- 349,
= 2, Option ID :- 350,
=« 3, Option ID :- 351,

= 4, Option ID :- 352,
Answer Given:- 3, Option ID : -351

Question ID:- 89

Which of the following Acts provides legal framework for e-Governance in India ?
(1) IT Act 2000

(2) Governance Act
(3) Indian Penal Code
(4)

4) IT (amendment) Act 2008

Frafafea 4 § &R @ afufe wma § 297 (e-governance) &1 FHAT @11 JaH Ll & 2
(1) g=n drEifent sifafem 2000

(2) TEHE s

(3) A g2 i

(4) F= rEnfTeRt (EeieE) stfufrm 2008

Options:-

=1, Option ID :- 353,
=« 2, Option ID :- 354,
= 3, Option ID :- 355,

= 4, Option ID :- 356,
Answer Given:- 4, Option ID : -356

Question ID:- 90
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Internet is an example of :

(1) LAN
(2) MAN
(3) PAN
(4 WAN
e Tohaen T | E ¢
(1) @4 (LAN)
(2) T (MAN)
(3) U (PAN)
(4) o (WAN)
Options:-

«1, Option ID :- 357,
= 2, Option ID :- 358,
=« 3, Option ID :- 359,

« 4, Option ID :- 360,
Answer Given:- 4, Option ID : -360

Question ID:- 91

Which of the following is generally the default extension of a spreadsheet created using Microsoft

Excel ?

(1) .mxl
(2) .xIsx
(3) .mxls
(4) .mxlx

Freafafaa | & & fawer TEwmE e gr ffia 1w Sevie @ sfterd e g7
(1)  .mxl

(2) .xlsx

(3) .mxls

(4) .mxlx
Options:-

«1, Option ID :- 361,
= 2, Option ID :- 362,

= 3, Option ID :- 363,

= 4, Option ID :- 364,
Answer Given:- 2, Option ID : -362

Question ID:- 92
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Which of the following is not an example of RDBMS ?
(1) MS Excel

(2) SQL Server
(3) MySQL
(4) Oracle

frefafaa § 9 0 sREETaTg (RDBMS) &1 T& 3860 98l © 2
(1) THUH THA

(2) THRTA HaX

(3) HMA THFTA

(4) oA
Options:-

«1, Option ID :- 365,
= 2, Option ID :- 366,
= 3, Option ID :- 367,

= 4, Option ID :- 368,
Answer Given:- 1, Option ID : -365

Question ID:- 93

McAfee Plus is an example of :
(1) Anti-virus software

(2) Application software
(3) Open source software
(4) Programming language

TRt (McAfee) TergeRT ST § :
(1) UliaPRd deasal

(2) UwRIA HRTR

(3) T HE (AT HiH ) HREm
(4)  RITH YT

Options:-

«1, Option ID :- 369,

= 2, Option ID :- 370,

=« 3, Option ID :- 371,

= 4, Option ID :- 372,
Answer Given:- 1, Option ID : -369

Question ID:- 94
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Computer programs that copy or replicate itself to other computers across a network, is called :

(1) Spam

(2) Worms

(3) Anti-Virus
(4) Trojan Horse

T FHoI UHITH, S A2 & arh! Fegedl § 9 Hfassfa 9 € 21 e 1 e €, 1 FHeerd § 2

(1) ¥|

(2) @

(3) TI-ARRH

(4) ZISFEH
Options:-

«1, Option ID :- 373,
= 2, Option ID :- 374,
= 3, Option ID :- 375,

= 4, Option ID :- 376,
Answer Given:- 1, Option ID : -373

Question ID:- 95

Which of the following characteristics is not ensured with a document with Digital Signature ?
(1) Not reusable

(2) Authentication
(3) Confidentiality
(4) Can’t be modified once sent

fefSeet geair o UF Yoi@ % Hed § 398 4 $ 91 aAfverem ghifraa 72 & 82

(1) 39 A STE T2 & Hehell

(2)  gHiERT

(3) TG

(4) TF IR 9 ST % IvEN SISl e S Hehdl
Options:-

=1, Option ID :- 377,
= 2, Option ID :- 378,
= 3, Option ID :- 379,

= 4, Option ID :- 380,
Answer Given:- 1, Option ID : -377

Question ID:- 96
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Which of the following is not a source of the virus entering your system ?
(1) A printout

(2) A pen-drive
(3) An e-mail attachment
(4) A downloaded program

=98 ¥ foraer meam 4 9 a9 fown § way 98 o gehdr ?

(1) T fyesimse

(2) TH W-gEA

(3) TUH THe HeFT® (Attachment)
(4) TH TRAGTE fRar g7 g

Options:-

«1, Option ID :- 381,
= 2, Option ID :- 382,
= 3, Option ID :- 383,

= 4, Option ID :- 384,
Answer Given:- 1, Option ID : -381

Question ID:- 97

Identify the type of cybersecurity attack from the following options, in which, malicious attackers
send messages pretending to be a trusted person or organisations to manipulate a receiver, ask
them to perform actions like insia]ling a malicious file or software, clicking a malicious link, or
divulging sensitive information, etc.

(1) Trolling
(2) Bullying
(3) Phishing
(4) Plagiarism

Trefafed famedl § 9 39 9Eer gan g9 & 9ear %1, faad fagyyel gnemer e s/igns o =@
T W TS UEEH YRR YRl ] Hewl Hsieht 379 fafim nfafafien wam §: ser % fou w5
JHRAMEE FEd I HRdw SRds war, Tl JHares fds W fas wEm a1 dageie st
A1 3G |

(1) 2T (Trolling)

2)  9drEdl (Bullying)

3) T®RET (Phishing)

4) =ISfSH (Plagiarism)

(
(
(

Options:-
=1, Option ID :- 385,
= 2, Option ID :- 386,

https://kvsexam05march23s1.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-2971-460b-9691-98a128654623&Rolln0=2204200... 48/61



https://applink.adda247.com/d/XhqWf9lSap

Adda247

3/17/23, 3:42 PM Response Sheet

=« 3, Option ID :- 387,

= 4, Option ID :- 388,
Answer Given:- 4, Option ID : -388

Question ID:- 98

Which of the following allows a user to send an additional file along with the e-mail ?

(1) e

(2) Bcee

(3) Draft

(4) Attachment

0 9 T o miegm 9 SuvEA, -1 & W Stfafed wea oft 99 9ed § 2

(1) CC

(2) Bcc

(3) Draft

(4) Attachment
Options:-

«1, Option ID :- 389,
= 2, Option ID :- 390,
=« 3, Option ID :- 391,

= 4, Option ID :- 392,
Answer Given:- 4, Option ID : -392

Question ID:- 99

What is a Switch in computer system ?
(1)  An Input device

(2) An Output device

(3) A Networking device
(4)

4 An external storage device

Hog yoel! H FE= (Switch )31 BT @ 2
(1) T T 5

(2) UH AR I

(3) U Heafdh I

(4) U Gl HURY 9
Options:-

=1, Option ID :- 393,
= 2, Option ID :- 394,
=« 3, Option ID :- 395,
= 4, Option ID :- 396,
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Answer Given:- 3, Option ID : -395

Question ID:- 100

Which of the following is one of the standard file extensions of an image file ?

(1) .mp3
(2 jpg
(3) .mov
(4) .pdf

Tr=fafad 5 4 =0 e 93 geelt (399) WEd #1 T 9% 6ee T ¢ 7

(1) .mp3
(2 jpg
(3) .mov
(4) .pdf
Options:-

=1, Option ID :- 397,
= 2, Option ID :- 398,
=« 3, Option ID :- 399,

= 4, Option ID :- 400,
Answer Given:- 2, Option ID : -398

Subject : QA_Q101-Q120 _JAO5MARSH1

Question ID:- 101

Thevalue0f§+[%+1gof£J_
6 25

o3 3

W | G

+1Eofg+iisz
o 38

_—
—
—
Y

W
S
o|Ul = M=
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E—:—[E+£EF[12J—E+ gm1é+ézg[m:[%:
6 J 2B 3 4 3 5 B8
n 1

1

Y —
@ 3
5 A
3 3
N 2
4 3
Options:-

«1, Option ID :- 401,
= 2, Option ID :- 402,
= 3, Option ID :- 403,

= 4, Option ID :- 404,
Answer Given:- 4, Option ID : -404

Question ID:- 102

HCF and LCM of two 3-digit numbers are respectively 230 and 1380. The smaller of the two

numbers is :
(1) 690
(2) 530
(3) 460
(4) 230

3- 3T HEA1E o HCF 31T LCM 389: 230 3K 1380 2 | 39 €1 Sesii § 919 gen §

= &

1) 690
(2) 530
(3) 460
(4) 230

Options:-

=1, Option ID :- 405,
= 2, Option ID :- 406,
= 3, Option ID :- 407,

= 4, Option ID :- 408,
Answer Given:- 2, Option ID : -406

Question ID:- 103
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2 2
The value of [(6'4) (5.6) ] *9.12 is :
6.4 X 40.96 + 5.6 % 31.36

—
2
S

U= = N

—
c
S|~

2 >
[(6.4)% — (56)%] x9.12 S—
6.4 x 40.96 + 5.6 x 31.36

—
[R]
S

U= = R

(3)
|
@ 71
Options:-

=1, Option ID :- 409,
= 2, Option ID :- 410,
= 3, Option ID :- 411,

= 4, Option ID :- 412,
Answer Given:- 4, Option ID : -412

Question ID:- 104

(0.96)° — 0.008
(0.96)> +0.96 % 0.2 + 0.04

The value of + 19 is equal to :

(1) 0.04
(2) 0.05
(3) 0.4
4) 05
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(0.96)° — 0.008
(0.96)% +0.96 x 0.2 + 0.04

=19 & HH U © :

(1) 0.04
(2) 0.05
(3) 0.4
(4) 0.5
Options:-

=1, Option ID :- 413,
= 2, Option ID :- 414,
= 3, Option ID :- 415,

= 4, Option ID :- 416,
Answer Given:- 1, Option ID : -413

Response Sheet

Question ID:- 105

Which of the following numbers is divisible by 88 ?

(1) 902 462
(2) 902 352
(3) 920 264
(4) 920 532

Frefafas sensti § 9 wH-49 T 88 ¥ favs & 7
(1) 902 462

(2) 902 352
(3) 920 264
(4) 920 532
Options:-

=1, Option ID :- 417,
= 2, Option ID :- 418,
= 3, Option ID :- 419,

= 4, Option ID :- 420,
Answer Given:- 1, Option ID : -417

Question ID:- 106

(1 12
2) 15
(3) 18
4) 24

A and B together can complete a certain work in 24 days. They started working together and after
20 days, A left the work and B continued till the work is completed. The whole work was completed
in 26 days. In how many days can B alone do one-third of the original work ?
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A 3T B U WY THera forell =9 =01 24 T3 H QU & Hahd € | 3= fHereRt sm e SRy foman si 20
&1 % qvETd A M SIS Fel T | 991 B d6 T H HLdl W, STe 9o HH GHIG Tal 8l T4 | Gy
26 T&7 ¥ QU §371 | B oThan STRIYF FH & Wh-Taak 9 i fovaq feq 5 o a1 872

(1) 12
(2) 15
(3) 18
(4) 24

Options:-

=1, Option ID :- 421,
= 2, Option ID :- 422,
= 3, Option ID :- 423,

= 4, Option ID :- 424,
Answer Given:- 4, Option ID : -424

Question ID:- 107

If 35 persons can do a work in 6 days, then in how many days the same work will be done by 15

persons ?
(1) 14
(2) 12
(3) 10
(4) 8

7fg 35 =afaa fondt & &l 6 T H 3 Tohd €, d1 391 = &l 8 15 Sfaqal 61 fhaq g o i 2

(1) 14
(2) 12
(3) 10
(4) 8
Options:-

=1, Option ID :- 425,
= 2, Option ID :- 426,
= 3, Option ID :- 427,

= 4, Option ID :- 428,
Answer Given:- 1, Option ID : -425

Question ID:- 108

The average marks obtained by 5 students in mathematics were found to be 60. Later, it was
noticed that in the case of one student, 38 marks were misread as 83. The correct average is :

(1) 55
(2) 53
(3) 51
(4) 49
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5 fernfei=i < Tiforg o wriehi o1 3irEd 60 71 foh 11 =€ |, =€ A & o 38 3iehi @l TTerd! 9 83 Ual
T | HE S €

(1) 55
(2) B3
(3) B
(4) 49

Options:-

=1, Option ID :- 429,
= 2, Option ID :- 430,
= 3, Option ID :- 431,

= 4, Option ID :- 432,
Answer Given:- 3, Option ID : -431

Question ID:- 109

The average of four numbers is 8. If the average of first three numbers is five times the fourth
number, then the fourth number is :

(1) 5
(2) 4
3) 3
(4 2

IR Hemsii 1 2w 8 ¥ | Afe v = wensii w1 oy =ef e i ard T §, o =elf gen ©
1) 5

(2) 4

3 3

4) 2
Options:-

=1, Option ID :- 433,
= 2, Option ID :- 434,
= 3, Option ID :- 435,

= 4, Option ID :- 436,
Answer Given:- 3, Option ID : -435

Question ID:- 110

In an election, there were only two candidates and the winner defeated his rival by 2100 votes. If
the winning candidate obtained 48% of the total votes and 7% of the votes declared invalid, then
the total number of voters was :

(1) 70000
(2) 63000
(3) 42000
(4) 35000
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forlt 1@ H, had S RN & 991 Sitaw arel 9 379 gfdgel o1 2100 del 9 g e | afg sidw gt gt
%I FA A2 ok 48% FIE U g a1 7% Al A Hiftd gY, 1 A1l il el HeAr of

(1) 70000
(2) 63000
(3) 42000
(4) 35000
Options:-

=1, Option ID :- 437,
= 2, Option ID :- 438,
= 3, Option ID :- 439,

= 4, Option ID :- 440,
Answer Given:- 4, Option ID : -440

Question ID:- 111

If x =6y, then by what percent is y less than x ?

(1) 16 E %
(2) 60 %
1

83 — %
(3) 83
(4) 90%

Afgx=6y % @ F y forad gfaem %9 €72
2

(1) 16 — %
(2) 60 %
1
83 — %
(3 83
(4) 90%
Options:-

=1, Option ID :- 441,
= 2, Option ID :- 442,
= 3, Option ID :- 443,

= 4, Option ID :- 444,
Answer Given:- 3, Option ID : -443

Question ID:- 112
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A shopkeeper sells his goods at 15% discount on the marked price but marks the price of the goods
30% above the cost price. His gain percent is :

(1) 125%
(2) 12%
(3) 10.5%
4) 10%

Teh GHMSR ST Hid Sifohd Jod T 15% i 92 S =] &, W HIel 1 Jed %4 o9 ¥ 30% 31fish T
SifeRd ST & | SEH H e F

(1) 12.5%
(2) 12%
(3) 10.5%
(4) 10%
Options:-

=1, Option ID :- 445,
= 2, Option ID :- 446,
= 3, Option ID :- 447,

= 4, Option ID :- 448,
Answer Given:- 1, Option ID : -445

Question ID:- 113

7
By selling an article at = of its selling price, a shopkeeper loses 30%. If he sells it at its original

2
selling price, then what will be the profit percent ?
(1) 15%
(2) 18%
(3) 20%
(4) 25%

forel o 1 % P e 3 - AR W SRR 1 30% 1 a1 A ¥1 1% 7 v g A 5
TRy fosha ged o =, o1 @y gfaerd 2 g 2

(1) 15%
(2) 18%
(3) 20%
(4) 25%
Options:-

«1, Option ID :- 449,
= 2, Option ID :- 450,
= 3, Option ID :- 451,

= 4, Option ID :- 452,
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Answer Given:- 4, Option ID : -452

(1) 15:12:
(2 12 21:
(3) 16:21:
(4) 15:18:

Question ID:- 114

Ifx:y=4:7andy:2z=3:5,thenx:y:zisequal to:

28
35
35
28

qﬁx:y=4:73ﬂ?y:z=3:5%T'?lx:j;:zw%:

28
35

=35

(1) 15:12:
(2) 122 21 :
(3) 16:21
(4) 15:18
Options:-

128

=1, Option ID :- 453,
= 2, Option ID :- 454,
= 3, Option ID :- 455,

= 4, Option ID :- 456,
Answer Given:- 2, Option ID : -454

(1) 76
2) 57
(3) 38
4 19

Question ID:- 115

The ratio of present ages (in years) of Ramesh and Naseem is 16 : 19 and four years ago, this ratio
was 14 : 17. Then, Naseems present age (in years) is :

THYT SR FHH =60 FdHH A7 (61 H) B AU 16 : 19 ¥ 991 TR 96 YA A% S 14 : 17 911 THH H

FAHE A (F91 H) T
1) 76

(2) 57

(3) 38

(4) 19
Options:-

=1, Option ID :- 457,
= 2, Option ID :- 458,
= 3, Option ID :- 459,

= 4, Option ID :- 460,
Answer Given:- 3, Option ID : -459

Question ID:- 116
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At what rate of simple interest per annum will a sum become five times of itself in 20 years ?

(1) 10%
(2) 12.5%
(3) 20%
4) 25%

o TraROT STt ST Afie @ W EE Sie 20 96t § = i g T S st ?

(1) 10%
(2) 12.5%
(3) 20%
(4) 25%
Options:-

=1, Option ID :- 461,
= 2, Option ID :- 462,
= 3, Option ID :- 463,

= 4, Option ID :- 464,
Answer Given:- 3, Option ID : -463

Question ID:- 117

1
What is the difference between the compound interest on a sum of T 16000 invested for 1 E years

at 20% p.a, interest compounded half yearly and the compound interest on the same sum for the
same time period and same rate, when interest is compounded yearly ?

(1) T 176
(2) T 180
(3) T 182
4) T 19

% 16,000 %1 ek T 9T 20% afiieh g F 1 %aﬁﬁmﬁgw,mm arefanftier HifSrd g & o 34
TR o I & FHA % fru SIR 391 & W Tehale =S, S AT aiftes Haifsd sl 8, H S & g 2

(1) T 176
(2) T 180
(3) T 182
(4) < 196
Options:-

«1, Option ID :- 465,
= 2, Option ID :- 466,
= 3, Option ID :- 467,

= 4, Option ID :- 468,
Answer Given:- 1, Option ID : -465
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Question ID:- 118

In how many years will ¥ 8000 amount to ¥ 10648 at 20% per annum, compounded
semi-annually ?

(1) 1 year
2 1 l .
(2) 15 years
(3) 2 years
4 21 ATe
(4) 5 years

% 8,000 =T &= 209% anftfer it <2 & foram a9f & T 10,648 21 Swft, Safer = srefanfifes gafed gmn & 2

(1) 1799
1
(2 1z oY
(3) 294
1
(4 25 CL|
Options:-

«1, Option ID :- 469,
= 2, Option ID :- 470,
= 3, Option ID :- 471,

= 4, Option ID :- 472,
Answer Given:- 2, Option ID : -470

Question ID:- 119

A train crosses two bridges 600m and 1200m long in 90 seconds and 150 seconds, respectively.
The length of the train is :

(1) 100 m
(2) 150 m
(3) 200 m
(4) 300 m

Teh {@TE! 600 m 3R 1200 m & 1 &l 1 HH: 90 FHUE 2R 150 HFHUS H IR L Tt ¢ | 39 et
T L T

(1) 100 m
(2) 150 m
(3) 200 m
(4) 300 m
Options:-

«1, Option ID :- 473,
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= 2, Option ID :- 474,
= 3, Option ID :- 475,

= 4, Option ID :- 476,
Answer Given:- 4, Option ID : -476

Response Sheet

Question

1
SR
1
2 3
3
® 3

~
g
Belw N= =

_—
159
S
—

Options:-

=1, Option ID :- 477,
= 2, Option ID :- 478,
= 3, Option ID :- 479,

= 4, Option ID :- 480,
Answer Given:- 1, Option ID

ID:- 120

(4) 1 km/hour

km /=21

km /=21

]
<
ﬁ.

A boat goes 42 km downstream in 7 hours and 40 km upstream in 8 hours. Then, the speed of the
stream is :

ek A6l ¥R o |1 42 km FR1 g 76 H 99 F € 91 U % fadid 40 km 1 g8 8 €2 H 99 FA ¥ 1 9,
R % = T

1 =477
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